Yr 10C  Science    PHYSICS   CAT  Revision         
1. A moving train is brought to rest within 15 seconds by applying brakes. Find the initial velocity, if retardation due to brakes is 3ms-2.
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2. A moving train is brought to rest within 15 seconds by applying brakes. Find the

initial velocity, if retardation due to brakes is 3ms-.
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3. A racing car has a uniform acceleration of 5 ms-?>. What distance will it cover in 8
seconds after the start?
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4. A ship is moving at a speed of 70 kivh. 2 seconds later, it is moving at 72 km/h.
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2. A racing car has a uniform acceleration of 5 ms-2. What distance will it cover in 8 seconds after the start?
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3. A ship is moving at a speed of 70 km/h.    2 seconds later, it is moving at 72 km/h. What is its acceleration?









4. A shopping trolley rolls down a steep road and reaches a maximum velocity of 9m/s in 6 seconds, then cruises at this speed for the next 4 seconds before coming to a stop.  It took 15 seconds for the trolley to go through all its motion. 
a) Draw a motion graph of the trolley. 


b) What is the acceleration of the trolley during the first 6 seconds?

c) What is the displacement of the trolley when it was moving at a uniform velocity?

d) From your graph in part (a), determine the displacement of the trolley. 

Graphical solution: 
Mathematical solution: 

